The IS-LM & AD Model

Goods Market:

     equilibrium condition                   Y = C + I + G + X

     income identity                         Y = C + Sp + T

     consumption function                    C = a + b*(Y-T) - c*R

     tax function                            T = Z + t*Y

     investment function                     I = e - d*R

     exogenous government expenditure        G = Go
     net export function                     X = g - m*Y - n*R

Money Market:

     money market equilibrium condition      Ms = Md
     money demand function                   Md = P*(k*Y - h*R)

     exogenous money supply                  Ms = Mo
IS curve equations:

           R = a+e+g +   1  *(Go-b*Z) - 1-b*(1-t)+m * Y

               c+d+n   c+d+n               c+d+n

      or

           Y =    a+e+g    +      1     *(Go-b*Z) -   (c+d+n)   * R

               1-b*(1-t)+m   1-b*(1-t)+m            1-b*(1-t)+m

LM curve equations:

      R = k * Y - 1 * Mo       or     Y = h * R + 1 * Mo
          h       h   P                k       k   P

IS-LM Equilibrium Solution for Y --- the AD Equation:

      Y =      h     *   a+e+g+Go-b*Z  +          c+d+n              * Mo
           k*(c+d+n) + h*[1-b*(1-t)+m]   k*(c+d+n) + h*[1-b*(1-t)+m]   P

   or

      Y =               1              * [h*(a+e+g+Go-b*Z) + (c+d+n)*Mo]

           k*(c+d+n) + h*[1-b*(1-t)+m]                               P 

savings equations/relationships:

  total savings identity                  S = Sp + Sg + Sf
  private savings function                Sp = -a + (1-b)*(Y-T) + c*R

  government savings (budget surplus)     Sg = Z + t*Y - G

  foreign savings (trade deficit)         Sf = -X = -g + m*Y + n*R

